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250 000 people visited a theme park in one year.
15% of the people visited in April and 40% of the
people visited in August. How many people visited
the park in the rest of the year?
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DAY 9 1| 578300-200 =
P I X L

Arithmetic Questions
It 6x5-45+5
2 745426 =
A ux1/6=
S 7/9+5/8 =
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DAY 9 — Reasoning Questions

PRIMARY

Find two square numbers that total 45.
|:| * |:| - 45 (1 mark)

2.

Write all the factors of 30 which are also factors of
20.

(1 mark)

Two whole numbers are each between 60
and 70. They multiply to make 4095.
Write in the missing numbers.

[]x[]=4095

(1 mark)

4.

Here are five number cards.

A)[4) (2] (8] 2]

A and B stand for two different whole numbers.
The sum of all the numbers on all five cards is 30.
What could be the values of A and B?

(1 mark)
5.
Ben thinks of a number.
He adds half of the number to a quarter of the
number. The result is 60.
What was the number Ben first thought of?
Show your working.
(1 mark)



PlXL DAY 10 =1| 36% of 3400

PRIMARY

Arithmetic Questions

1 1/12x1/3=

2| 56429 -14834

74| 0.07x12=

1/6 + 8=
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DAY 10 — Reasoning Questions

PRIMARY

1. A circle has a diameter of 136cm. What is the length of its

radius? (1 mark)

2. The radius of one circle is 8.5cm. All the circles are the same
size.

00000

What are the dimensions of the rectangle?

Length width (1 mark)

3.

This diagram is not drawn accurately.
Calculate the size of angle m.

709
—
m\ 70°

(1 mark)

3.

The pie charts show the results of a school’s netball

and football matches.

|
| won

.' won
Netball Football

The netball team played 30 games.
The football team played 24 games.
Estimate the percentage of games that the netball

team lost. (1 mark)

David says, ‘The two teams won the same number
of games’.

Is he correct? Circle Yes or No.

Explain how you know.




